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QUESTION 1

Which step is one of the typical configuration steps when configuring Flow Exporter for Prime Infrastructure 2.0 or
higher? 

A. Set the IP address to export the Flexible NetFlow cache entry to a destination system. 

B. Configure the source IP address interface for each interface part of Flexible NetFlow exporter. 

C. Configure the TCP transport protocol and a TCP port number 1991 for a Flexible NetFlow flow exporter. 

D. Configure the TCP transport protocol and a TCP port number 9991 for a Flexible NetFlow flow exporter. 

Correct Answer: A Question Set 8 

 

QUESTION 2

Which access categories are defined in the Wi-Fi Alliance Wireless Multimedia certification? 

A. Voice, Video, Best Effort, Background 

B. 802.11b, 802.11g, 802.11a, 802.11n 

C. 802.11k, 802.11r, 802.11w, 802.11ac 

D. Expedite Forwarding, Assured Forwarding, Data, Scavenger Traffic 

Correct Answer: A 

 

QUESTION 3

A network administrator is using the Embedded Event Manager, which is supporting multiple actions initiated from the
script. Which two policy actions can be used within the EEM? (Choose two) 

A. Execute a Tcl script. 

B. Send an email. 

C. Run another policy. 

D. Hot swap the supervisor. 

E. Manually send an SNMP trap. 

Correct Answer: BC Testlet 1 

TESTLET OVERVIEW 

Title: Case Study 

The following testlet will present a Case Study followed by [count] multiple choice question(s), [count] 
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create a tree question(s), [count] build list and reorder question(s) and [count] drop and connect question 

(s). 

You will have [count] minutes to complete the testlet. 

For help on how to answer the questions, click the Instuctions button on the question screen. 

 

QUESTION 4

Which option is performed exclusively by the mobility agent? 

A. key distribution to all mobility controllers 

B. 802.11 device location calculation 

C. CAPWAP tunnels termination 

D. central radio resource management tasks 

Correct Answer: C 

 

QUESTION 5

In the Cisco Unified Wireless Network infrastructure, which combination of devices and/or features best accomplishes
high availability? 

A. backup controllers and client SSO 

B. backup controllers and LAG 

C. N+1 and client state replication 

D. N+1 and backup controllers 

Correct Answer: A 
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